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Final Exam Review 

Polynomials and Factoring 

 
Add, subtract or multiply. 

 

1.  )65()869( 323 xxxxx      2.  )573()82( 33  sss  

 

 x³ − 8x² + 15x        5s³ − 7s + 13 

 

 

 

 

 

     

3.  )12)(103(  dd       4.  )13)(52( 2  sss  

 

 −6d² + 23d – 10      2s³ + 11s² + 13s – 5  

 

 

 

 

 

 

 

5.  2)83( yx         6. 2)73( nm   

 

 9x² + 48xy + 64y²      9m² − 42mn + 49n² 

 

 

 

 

 

Factor each polynomial by finding the GCF. 

 

7.  xx 42 2      8.  2164 yy     9.  283 xyxy   

 

 2x(x – 2)    –4y(1 – 4y)    xy(3 + 8y) 

 

 

 

 

 

 

 

 

 

 

 



Factor each polynomial completely. 

 

10.  1272  xx    11.  2422  xx    12.  1892  xx  

 

 (x – 3)(x – 4)    (x – 6)(x + 4)    −1(x + 6)(x + 3) 

 

 

 

 

 

 

 

13.  23 2  xx    14.  165 2  xx    15.  4133 2  xx  

 

 

 (3x − 2)(x + 1)    (5x − 1)(x − 1)    (3x + 1)(x + 4) 

 

 

 

 

 

16.  x² – 25    17.  4x² – 169      18.  2x² – 50 

 

 (x + 5)(x – 5)    (2x + 13)(2x – 13)   2(x + 5)(x – 5) 

 

 

 

 

 

 

 

19.  4x² + 20x + 25   20.  3x² – 24x + 48   21.  333 637 abba   

 

 

 (2x + 5)²    3(x – 4)²    7ab³(a + 3)(a – 3) 

   

 

 

 

 

 

22.  sttsts 36244 2233    23. ggg 24246 23    24.  35 483 nn   

 

 −4st(st – 3)²    6g(g – 2)²    3n³(n + 4)(n – 4) 

 

 

 

 

 

 

Solve each polynomial equation. 



 

25.  0)2)(13(  xx   26. 0)14)(73(  xxx    27.  0)52( xx  

 

 x = 1/3 and x = −2   x = 0, x = 7/3 and x = ¼   x = 0 and x = 5/2 

 

 

 

 

 

 

 

 

28.  0217 2  xx    29.  0168 2  xx    30.  xx 72 2   

 

 

 x = 0 and x = −3   x = 0 and x = 2    x = 0 and x = −7/2 

 

 

 

 

 

 

 

 

31.  01272  xx    32.  060172  xx    33.  1282  xx  

 

 x = 4 and x = 3    x = 5 and x = 12   x = −6 and x = −2 

 

 

 

 

 

 

 

 

 

34.  023 2  xx    35.  03532 2  xx    36.  3114 2  xx  

 

 x = 2/3 and x = −1   x = −7/2 and x = 5   x = ¼ and x = −3 

 

 

 

 

 

 


